# -*- coding: iso-8859-1 -*-

from Tkinter import *

from string import lowercase

from time import time

nmap={} # a map by number notation eg 1.3.3.7 each step has a count for each step

smap={} # a map by name notation returns number path

        #eg. if given Archaea will return -1

w=1000

h=800

def treeadd(npath, curr, depth,l): # adds a new node to the tree

  if depth==l:

    return

  else:

    if npath[depth] in curr: #if branch already in tree continue down

     treeadd(npath,curr[npath[depth]],depth+1,l)

    else: #else add the new branch and continue

     curr[npath[depth]]={"num":0} 

     treeadd(npath,curr[npath[depth]],depth+1,l)

def addval(path,curr,depth,l,val):

  if depth==l:

    curr["num"]+=val

    return

  else:

    addval(path,curr[path[depth]],depth+1,l,val)

rawread= open("rdp.txt").read().split('\n')

count=0

for s in rawread:

  count +=1

  temp=s.split('\t')

  if len(temp)>1:

    npath=temp[1].split('; ')

    for i in range(len(npath)):

      if npath[i][0]=='"':


npath[i]=npath[i][1:len(npath[i])-1]

      ls=npath[i].split(' ')

      ts=""

      for i2 in ls:


ts+=i2

      npath[i]=ts

    treeadd(npath, nmap, 0,len(npath))

dataread= open("full_otu_cts_.txt").read().split('\r')

for i in range(2,len(dataread)):

  s=0

  line=dataread[i].split('
')

  for i2 in range(1,len(line)-1):

    s+=int(line[i2])

  addval(line[len(line)-1].split("; "),nmap,0,len(line[len(line)-1].split("; ")),s)

def quit(evnt):

  exit(0)

def treecount(curr):

  s=0

  if "num" in curr.keys():

    if curr["num"]>0:

      s+=1

  if len(curr.keys())>1:

    for i in curr.keys():

      if not i=="num":


s+=treecount(curr[i])

  return s

  #if len(curr.keys())>1:

    #for i in curr.keys():

      #if not i == "num":


#s+=treecount(curr[i])

    #return s

  #else:

    #print curr["num"]

    #return 1

##

# Initialize.

#

print treecount(nmap)

root=Tk()

canvas=Canvas(root,width=w,height=h,bg='white')

canvas.create_line(50, 10, 50, 750)

canvas.create_line(50, 750, 950, 750)

canvas.create_text(475,780,text="Otu type")

canvas.create_text(20,400,text="Count")

canvas.create_text(25,410,text="log scale")

diff=700/5

canvas.create_text(25,750,text="0")

canvas.create_line(45,740,55,740)

canvas.create_text(25,740,text="1")

canvas.create_line(45,750-diff,55,750-diff)

canvas.create_text(25,750-diff,text="10")

canvas.create_line(45,750-diff*2,55,750-diff*2)

canvas.create_text(25,750-diff*2,text="100")

canvas.create_line(45,750-diff*3,55,750-diff*3)

canvas.create_text(25,750-diff*3,text="1000")

canvas.create_line(45,750-diff*4,55,750-diff*4)

canvas.create_text(25,750-diff*4,text="10000")

canvas.create_line(45,750-diff*5,55,750-diff*5)

canvas.create_text(25,750-diff*5,text="100000")

canvas.pack()

#root.bind('<Button-1>',click)

root.bind('<q>',quit)

#canvas.after(10,tick) # animation

#

# Here we go.

#

root.mainloop()

Explanation

Tree.PY sets up a basis, which can read in data files, contains multiple taxanomic trees, and allows a user access to specific values inside the taxanomic tree.  The GUI currently implemented is a shell, which does not have mouse/typing input.  def addval(path,curr,depth,l,val): is a recursive method, which will add a new value read from a file (val) to the tree, and adds values at each step along the tree so that if the value “Bacteria; Bacteroidetes;” is added to the tree both nmap[“bacteria”] and nmap[“Bacteria”][“Bacteroidetes”] will have val added to them to keep a running total of how many are in each kingdom, phyla, genus, etc.

